THIN TYPE ALUMINIUM ALLOY PNEUMATIC CYLINDERS | #ERIRSSREIRS

1R imI MR

SDA

HR RS RIEL

Bore @12 ~ @16 Bore @20 ~ @100

B2 B2
E
E
SDA THIN-TYPE H
H F
J
PNEUMATIC )
CYLINDER R = = = ===
8 8 |, — % SRS
K2 W i K2 W
2MNE 2 e
ERFIE FEATURES |
SEAE (mm) 12 16 20 25 32 ®40 50 63 80 ®100
1ZEETFE (mm) 5,10,15,20,25,30,35,40,45,50
1TF=E0E (mm) Max:60 Max:100 Max:120
(EFREEEEE (°C) -10 ~ +60 °C
5] BB1Z7<i% ORDERING INDICATION
BAIRIEEEA: 10 kgf/cm? Max. operating pressure: 10 kgf/cm’ _
S/MBIEEEA 1 kgf/cm’ Min. operating pressure: 1 kgf/cm? . SDADS20-10-B
fEEISE: AEER Double acting SDA %3l Series SDA/SDAD/SDA
D THEEE f.ERER D:EfEh J.EEEATTER
Piston rod Nil: Single end rod D: Double end rod J: Double rod of adjustable stroke rod
EI=E NOTE S Eggiﬁn‘ﬁeﬁﬁc MM RE SRR Nil: No magnet  S: With magnet
FTREESOmmLA BRI E S Stroke in more than 50 mm belongs to special custom. SR
20 Cylinder inside diameter P12 , P16, ®20 , P25, P32 , P40 , P50 , P63, P80 , P100
1712
10 Stroke 5, 10,15, 20,25, 30, 35, 40, 45, 50
st - . . .
B Rod end #: AT B: HMF Nil: Female B: Male

#£5)%EL DOUBLE ACTING CYLINDERS
RS BEZZREgETSR  Usable fluid: Oiled Dry Clean Compressed Air

Double acting-single SDA :%:Ij
end rod type Unit:mm
S ERE R L R
Double acting-single end rod SDAS E%]] D|AME|-ERL%IT’§§ B2 E F G H J K2 L M Vv W
t iston with t
ype(piston with magney 12 17 16 4 1 10 4 M5x0.8 10.2 2.8 6 5
e —h 16 175 16 4 15 10 4 M5x0.8 1 28 6 5
Double acting-double SDAD [ 1 [ |
el el — 20 205 19 4 15 13 5 M6x1.0 15 238 8 6
SeEpSeah R BRI RE T :[[Ij 25 23 21 4 2 15 6 M8x1.25 17 2.8 10 8
g%g?g?sﬁgm;ﬂ:; ggd rod 32 25 22 4 3 15 6 M10x1.25 22 2.8 12 10
AT TS 40 35 32 4 3 25 8 M14x1.5 28 2.8 16 14
smisrn

Adjl;(stable stroke cylinder(adjustable SDA)J :g:gmj 50 37 33 5 4 25 11 M18x1.5 38 2.8 20 17
t :A:25mm,B:50

;;JJTEEE;; » r;{?;i'riﬁﬁﬁ’” 63 37 33 5 4 25 11 M18x1.5 40 2.8 20 17

Bl el Rk fERY

Adjustable stroke cyﬁirld{er SDAJS :gl:%m 80 44 39 6 5 30 13 M22x1.5 45 4 25 22
kA2 sommy e 100 50 45 7 5 35 13 M26x1.5 55 4 32 27

279 | M E L R 5 PNEUMATIC & HYDRAULIC CLAMPS | 280



SDA/SDAS TYPE SDAD/SDADS TYPE

Bore @12 ~ @16 Bore @20~ @100 Bore @12~ @16 Bore @20 ~ @100
Ux45° Ux45°
K1;RE Ux45°
2-P1 fﬂ
= wm
— wv —
)
(‘)
S
S
aL
oV oL
'ﬁ | t
WA ‘ bl o w I =
W oL = i i = | o
- ov | M W o || & ¢ e || BB
M T T | = | Iz
o \%g = o == \ ‘ 1
N i [2a) i | m, = [ V l r <
| b o
Gl = | g _ ‘ on| & | = — | -
SEALLOY) | 2 o= | B = | Q} o = A~ o
! o ! o
N ‘ m 1 o /<\ ?E,[ﬁ in P EE
: 2-0 ) < ‘ T
2-0 ‘ | g ! | o ‘ I ¥ UI_' ﬁ‘.\ ‘ ’3)-
‘ OH| 5 ‘ | b i ‘ () I !
| | i 20 A | | i | | O
0 + | 5 — -
| (@) =
| | | | | | f\ | I7El
| 0 o - |
I AN st/ IE =T | 2
SU L - =) ”
SETNS Al anirk e b |
=2 = =z I 5 =
1 | "LJ ‘ \ ~ w1 |9V ZV\[;E oL
| \ \ 27IE oL Ll
N3
Unit:mm Unit:mm
yicd . P 2
ol EEm WEE D E FG KI L MNIN3 O P1 P3PAR S TIT2U VW X Y gl EEm WEE D E FG KI L MNIN3 O P1 PPPAR S TIT2U VW X Y
A Bl C A Bl C e A Bl C A Bl C I
12 22 5 17 32 5 27 - 6 64 1 M3x0510228 63 6 M5x08 HEO6SFMsX08EAMM2 12 45 - 25 162 23 16 6 5 - - 12 27 5 17 37 5 27 - 6 4 1 M3x0510228 63 6 M5x08 EE0O6SFMsX08EHG42 12 45 - 25 16223 16 6 5 - -
16 24 55185 34 55285 - 6 6 415 M3x05 11 28 73 65 M5x08 HE06SFMsx08EAM2 12 45 - 29 198 28 16 6 5 - - 16 29555 185 395 55 285 - 6 415M3x05 11 28 73 65 M5x08 BEOGSFMsx08E042 12 45 - 29 19828 16 6 5 - -
20 25 55195 35 55295 36 8 8 4 15 M4x07 15 28 75 - M5x08 SEOGSFM5«08@A042 14 45 2 34 24 - 21 8 6 11310 20 30555 195 405 55 295 36 8f7E=5KH6) 4 15 MAx07 15 28 75 - M5x08 &EB0O6SFMsx08E(042 14 45 2 34 24 - 21 8 6 11310
25 27 6 21 37 6 31 4210104 2 M5x08 17 28 8 - M5x08 SE082FMex10®@A046 15 55 2 40 28 - 3110 8 12 10 25 33 6 21 43 6 31 42 10FESEE) 4 2 M5x08 17 28 8 - M5x08 &E082FMex10i&046 15 55 2 40 28 - 31 10 8 12 10
32 315 7 245415 7 345 50 12124 3 M6x10 22 28 9 - PTI/8 #E082FM6x10EH046 16 55 6 44 34 - 2151210 183 15 32 385 7 245485 7 345 50 8 12 4 3 M6x10 22 28 9 - PTI8 5082FM6x10EA046 16 55 6 44 34 - 2151210 183 15
40 33 7 26 43 7 36 58512124 3 M8x125 28 28 10 - PTI8 EOI0FMx125EI065 20 75 65 52 40 - 22516 14 213 16 40 40 7 26 50 7 36 585 9 12 4 3 M8x12528 28 10 - PTI/8 SEOI0FMEI2SEAG6S 20 75 65 52 40 - 22516 14 213 16
50 37 9 28 47 9 38 71515155 4 MI0x15 38 28 105 - PTI/4 SEOMFME«125EAG65 25 85 95 62 48 - 41520 17 30 20 50 46 9 28 56 9 38 715 11 15 5 4 MI10x15 38 28 105 - PTI/4 SEO1FMEx125EA065 25 85 95 62 48 - 41520 17 30 20
63 41 9 32 51 9 42 84515155 4 MI0x15 40 28 118 - PII/4 SEONFMEI25E065 25 85 95 75 60 - 31520 17 287 20 63 50 9 32 60 9 42 845 11 15 5 4 MI0x15 40 28 118 - PTI/4 SEO1NFMEx125EAG65 25 85 95 75 60 - 31520 17 287 20
80 52 11 41 62 11 51 104 1520 6 5 M14x15 45 4 145 - PI3/8 SEOUFMIK1T5EA092 25 105 10 94 74 - 3652522 36 26 80 63 11 41 73 11 51 104 14 20 6 5 M14x1545 4 145 - PT3/8 SEOUFMIKIT5EAG92 25 105 10 94 74 - 3652522 36 26
100 63 12 51 73 12 61 1241820 7 5 MI18x15 55 4 205 - PT3/8 SEOISFMUx2EAGN3 30 13 10 114 90 - 3653227 35 26 100 75 12 51 85 12 61 124 18 20 7 5 MI8x1555 4 205 - PT3/8 HEOITSFMIAEAGI3 30 13 10 114 90 - 3653227 35 26

281 | &M E L R 5 PNEUMATIC & HYDRAULIC CLAMPS | 282



SDAJ/SDAJS TYPE

Bore @12 ~ @16 Bore @20 ~ @100

s Uxd5°

oL
Qv B W_ ) o
7 2/t 2NE oV
e P
- = w . W
“o \ \
_ \ \ = i &3 = e
= | ] Syen O] : }
| | = *gl HZEN
| i () o
Hﬂ | —
w| | 20 = ‘ 20 |+ i
2o | + s
& | ) NI
= ) | . U] o | &
SRR 1E - NZEREE
He [ T P
L | 1 # :
1o x
h i | m : <
[ T ] ,Hg & |
J?(H Al
L 5 WON
T -
- ! |
oL
DIA%‘%ER AR [REY D E FGJ KI L MNIN3O P1 P3P4A R S TIT2U VW X Y
A Bl C A Bl C o
12 40 5 17 50 5 27 - 6 4 1 4 M3x05 10228 63 6 M5x08 #8065FM5x08BF042 12 45 - 2516223 16 6 5 - -
16 425 55 185 52555 285 - 6 4154 M3x05 11 28 73 65 M5x08 #58:065FM5x08 BH®G42 12 45 - 29 19828 16 6 5 - -

—_

20 475 55 195 57555 295 36 8f7fE=0kA65)4 1.5 5 M4x07 15 28 75 - M5x08 58:065FM5x08 B 042 14 45 2 34 24 - 21 8 6 11310
25 55 6 21 65 6 31 421W(FE=SEEN4 2 6 M5x08 17 28 8 - M5x08 H2082FMex10EAM46 15 55 2 40 28 - 31 10 8 12 10
32 615 7 245715 7 345 50 8 12 4 3 6 M6x10 22 28 9 - PTI/8 58082FM6ex10@A046 16 55 6 44 34 - 2151210 183 15
40 65 7 26 75 7 36 5859 12 4 3 8 M8x12528 28 10 - PT1/8 HE010FMx125EH®65 20 7.5 65 52 40 - 22516 14 213 16
50 73 9 28 8 9 38 71511 15 5 4 11 M10x15 38 28 105 - PT1/4 #80117FM8x125 &EHd65 25 85 95 62 48 - 4152017 30 20
63 77 9 32 8 9 4 84511 15 5 4 11 M10x15 40 28 118 - PT1/4 £2011FM8x125BAP65 25 85 95 75 60 - 3.1520 17 287 20
80 94 11 41 104 11 51 104 14 20 6 5 13 M14x15 45 4 145 - PT3/8 &E014FM12x175&A092 25 105 10 94 74 - 3652522 36 26
100 105 12 51 11512 61 124 18 20 7 5 13 M18x1555 4 205 - PT3/8 &20175FM14x2 #0113 30 13 10 114 90 - 3653227 35 26

| R HEL RS






